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Tog [(VAY) T (YIAY),]
normalized to (Y/AY),

CIELAB & TUBJND
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normalized to (Y/AY),

CIELAB & TUBJND
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L* rugonp=d In [ 1+ b (V/Y,)] d=25,6 b=6,141 [24] L* rusonp=d In [ 1+ b (V/Y,)] d=25,6 b=6,141 [2a] L* rugonp=d In [ 1+ b:(V/Y,)] d=25,6 b=6,141 [24] L* rusonp=d In [ 1+ b (V/Y,)] d=25,6 b=6,141 [24]
L* cieLas =116(Y/Y,) "“-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,)*-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) "-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,)*-16 (Y,=100, 0,8% Y) [2b]
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log [(Y/AY) / (YAY),]  CIE-Y contrast
CIELAB & TUBJND  normalized to (Y/AY),
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1og [(Y/AY) T (YAY),]
CIELAB & TUBJIND

CIE-Y contrast
normalized to (Y/AY),

CIE-Y contrast

1og [(Y/AY) 7 (YAAY)]
normalized to (Y/AY),

CIELAB & TUBJND

CIE-Y contrast

log [(Y/AY) 7 (YAY),]
normalized to (Y/AY),

CIELAB & TUBJND

1og [(YAAY) 7 (YDAY),]
CIELAB & TUBJND

CIE-Y contrast
normalized to (Y/AY),
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L*usanp=d In [ 1+ b-(V/Y,)] d=25,6 b=6,141 [2a] L ruganp=d In [ 1+ b-(Y/Y,)] d=25,6 b=6,141 [2a] L*usanp=d In [ 1+ b-(V/Y,)] d=25,6 b=6,141 [2a] L ruganp=d In [ 1+ b-(Y/Y,)] d=25,6 b=6,141 [2a]
L* cieLas =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) Y316 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) Y316 (Y,=100, 0,8% Y) [2b]
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log [(YIAY) ] (YAY),]  CIE-Y contrast log [(Y/AY) I (YIAY),]  CIE-Y contrast log [(Y/AY) ] (YAY),]  CIE-Y contrast log [(Y/AY) [ (YAY),]  CIE-Y contrast
CIELAB & TUBJND normalized to (Y/AY), CIELAB & TUBJND normalized to (Y/AY), CIELAB & TUBJND normalized to (Y/AY), CIELAB & TUBJND normalized to (Y/AY),
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L*rusanp= d I [ 1+ b: (Y/Y)] d=25,6 b=6,141 [2a] L*ruano=d In [ 1+ b: (Y/Y)] d=25,6 b=6,141 [2a]
L* cieas =116(Y/Y) =16 (¥,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y) =16 (¥,=100, 0,8% Y) [2b]
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TUB-test chart eee9; Contrast loy8Y) / (YAY)] = f(Y) of colour spaces
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CIELAB & TUBJND, see ISO/CIE 11664-4 & CIE 230, many information (left), and less (right
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